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SA I OoNel 1t
. ZOje =X S8
Eelr Zoiel 235 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFjel MSEMAH & AFH +2lbl A&
150,000 *80CH 12,000
14 DBt 2 a3 500 500 0
OZUMA=X =SA Ale
50,0002 10 500
307 212+01& 97,400 100,700 23,300
11 AMRISXAEEES 97,400 100,700 23,300
OFG RISl & JIFA AA K
2,000,000& *14] 2,000
ogisst el )| tisud =24
10,000,000 * 14 10,000
OHMI13al HoHel AASAH3
4,000,000 * 14 4,000
OZofe! stote 2&HX
36,000,000 %14 36,000
OZ0NQ e ItE20Y 2
2,000,0002 %14 2,000
OFMH=2UE =23 3,500,000 *14] 3,500
O+ HESUE XA
1,000,000 *14] 1,000
OOIAE0HO! QIATHAS 9B AAIK| I
Ng gt 4,000,000 *14] 4,000
ONdHeIS e Di=delXlz WA 2
fes 1,000,000 *14] 1,000
ON &R HSASE st d=HI| 2
a5 1,900,000 *14] 1,900
ONdEie IHH 2=tHE
1,000,000 %14 1,000
OSSHMY =8 & AZuF
1,000,000 *14] 1,000
O IMLHE WS
2,000,000& *14] 2,000
OZ0Hel 25 HFREH WS(PCEE,S2l)
2,000,000 %14 2,000
OZMABES &K Ast
1,500,000 *14] 1,500
ORMI52l &gl E2stEN & 23 &
&tz K& 3,000,000& *14] 3,000
O&JI12 StLEE M (Z0HL! S0S M=
Z20d) 29 1,500,000 *14{ 1,500
OToe 22 BRH w=(3D Z2lE)
2,500,000 *14] 2,500
ONIBal SZAIX 2 &I844 X
1,000,000 14| 1,000
OX=XHEHOHAHFCHE SIHXIZ
2,500,0002 *14] 2,500
OXG XM HAMFHR I
2,000,000 *14] 2,000




SA I OoNel 1t
mo: Fojel =X S
Eelr Zoiel 235 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONI2e| HIHONQISOISUEM X M243
DoIRS BSAEA X2
1,800,000 *14] 1,800
OFALTHONY TSB! BN
2,000,000 %14 2,000
Osolt Hel0l hiots '"SHMOF &CH - Ot
=233 2,500,000& *14] 2,500
OsJIZ22 Mt HE8ME 22
1,000,000 %14 1,000
OFLs0teIo JIEA &4 I QIADHA
el 2 X3 1,000,000 14| 1,000
O&LZ 2= HMat 1,200,000 *14] 1,200
OAlZ RIS figt ZIua 2 23 X
& 1,000,000 14| 1,000
OHNl46al SX&E0l2 & JIEA F4 & Al
ool SXNS 2 X3
1,500,000 *14] 1,500
401 Al HIZ S OHbI 15,000 15,000
01 AlZ2H| 15,000 15,000
Os7 MLt FX2==H|
15,000,000& * 14! 15,000
405 AHAHE S 4,300 4,300
01 AL =S F = 4,300 4,300
OXoHe! MSEMO S&I| 2
4,300,000& *2CH*50% 4,300
ZOHRIEFXI K2 143,570 138,781 4,789
S 22,842
Al 120,728
307 @120l & 143,570 138,781 4,789
== 22,842
Al 120,728
11 AMRISXAEEES 143,570 138,781 4,789
OO AIRA Sz K&
24,000,000 * 14| 24,000
ool &Ml 29 43 XA (69H2)
28,200,000 x 14 28,200
OWE & SEH AMEIA A
130,528, 0002 * 141%7(fk 91,370
== 22,842
Al 68,528
oI RN B (SN, SaH) 2,012,711 2,618,848 A606,137
= 873,819
== 343,138
Al 795,754
301 22N 2,012,711 2,618,848 A606,137
= 873,819




SA: SOIEOfOI It
Mz Fofel =X SA
29 S0el =5 (EH9): ®2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
= 343,138
Al 795,754
01 AIBIE & A& 251 2(2DEXTHH) 2,012,711 2,618,848 AN\606, 137
OZOfOILT2INIA (=X E)
1,900,227 0002 * 14! %70% 1,330, 159
= 665,079
= 199,525
Al 465,555
OXOHOIL IR KK (EEH)
372,800,000 * 14! %70% 260,960
= 208,740
= 15,666
Al 36,554
ORLHALSHSSHHAZTAR2I MY
602,273,000 * 14! %70% 421,592
& 127,947
Al 293,645
ZOHRIL X2 X (Lets) 1,231,640 1,759,484 N\B27 844
= 615,819
== 184,746
Al 431,075
101 2124d| 1,222,540 1,734,484 AbB11,944
= 611,269
& 183, 381
Al 427,890
04 JI12tHNI22 XS24 1,222,540 1,734,484 A511,944
OXONIHAE 20| XS (HLHI)
1,583,819, 000 * 14! x70% 1,108,674
= 554,337
& 166, 301
Al 388,036
OZ NI A =20 K2 (AIZHAL
162,665,000 * 141 x70% 113,866
= 56,932
& 17,080
Al 39,854
201 B2 AH| 9,100 25,000 A 15,900
= 4,550
& 1,365
Al 3,185
01 AFR22t2|t] 9,100 25,000 A 15,900
OOt 29|
13,000,000 * 14! x70% 9,100
= 4,550
& 1,365




S LQIFOHID:
HE: H0
SEHEl

Soiel == (Er9:&e)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
| Al 3,185
o= (0I=x) X2 1,102,043 1,530,493 A428,450
= 771,430
= 99,184
Al 231,429
301 2N = 1,102,043 1,530,493 N428,450
= 771,430
= 99,184
Al 231,429
01 Al EE A ZS(2REXMR) 1,102,043 1,530,493 A428,450
O£ (IZ) X2
1,574,347 0002 * 141 %70f% 1,102,043
= 771,430
= 99, 184
Al 231,429
o= (Xl S) K= 603,310 853,856 A250,546
= 422,317
== 54,298
Al 126,695
301 LtENZ 603,310 853,856 A250,546
= 422,317
< 54,298
Al 126,695
01 AR 2EHSFS(RNEXRTHE) 603,310 853,856 A250,546
OBULS (R S) XS
861,871,000& *141%70% 603,310
= 422,317
< 54,298
Al 126,695
gdoiels =0 K= 6,424,087 8,578,990 A2,154,903
= 4,496,860
== 578,168
Al 1,349,059
301 22N = 6,424,087 8,578,990 A2,154,903
= 4,496,860
=S 578,168
Al 1,349,059
01 Al 2E A S(FRDEXMA) 6,424,087 8,578,990 A2,154,903
OFOHRIZ 20| N3
9,177,266,000& *141%70% 6,424,087
= 4,496,860
= 578,168
Al 1,349,059
MASZ0He! MEH & ZAH XI& 5,561 7,944 N2,383




SN COIFORQI Dt
= Zojel =X s
o2 ool 235 (EEEE))
S - ZE - BR(E) - ARANY - BES ofl &t e DS
= 2,780
=S 834
Al 1,947
301 22N = 5,561 7,944 2,383
= 2,780
= 834
Al 1,947
01 Al EE AT S (2 RDEXA) 5,561 7,944 2,383
OMa= Z0He! Ml 2 ZAHEl XA
7,944,000 * 141 %7 0% 5,561
= 2,780
= 834
Al 1,947
ZOHR! BXI|J| WA 13,813 23,457 A9,644
= 11,050
Al 2,763
301 22N = 13,813 23,457 9,644
= 11,050
Al 2,763
01 AB2ZH+S(FNEZTHE) 13,813 23,457 9,644
OBOjOl BXI|I| DEAIY
19,732,000 *141%70% 13,813
= 11,050
Al 2,763
LETHEAMEIA HISH X2 836,685 932,201 N95,516
= 585,680
= 75,301
Al 175,704
308 AHXIEMSOIE 836,685 0 836,685
= 585,680
& 75,301
Al 175,704
18 SIS0t & AAS A 836,685 0 836,685
O2LMEAbIA BIRX X
1,195,264,0002 * 141 %70% 836,685
= 585,680
< 75,301
Al 175,704
LETHEAMHI A ZHI=HH 84,000 245,700 A161,700
= 25,200
Al 58,800
307 gl2to| & 84,000 245,700 /161,700
= 25,200
Al 58,800




2A:

. ZOje =X S8
o2 ool 235 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
D EEEETIEES 84,000 246,700 161,700
OZLTHEAMEIA U2
120,000, 0002 141 %7(f% 84,000
= 25,200
Al 58,800
2SS0 XE 19,516,619 20,928,867 A1,412,248
= 14,580, 184
= 1,874,5%
Al 3,061,839
308 AXIHSO0IA 19,516,619 0 19,516,619
= 14,580, 184
= 1,874,5%
Al 3,061,839
18 SIS0t oA AS A 19,516,619 0 19,516,619
OmMIESI S0iX
19,516,619,000& » 14 19,516,619
= 14,580, 184
== 1,874,5%
Al 3,061,839
IS SAE & SIS 1,568,760 1,461,426 107,334
= 313,752
Al 1,255,008
308 AtAIEHMSOIE 1,568,760 0 1,568,760
s 313,752
Al 1,255,008
13 SI[2SOHe & EAS A 1,568,760 0 1,568,760
OZMALESKH = FIASE
2,241,085,000& *141%70% 1,568,760
& 313,752
Al 1,255,008
ZoHel=HIXIZ 402,860 475,513 AT2,653
= 322,287
= 24,172
Al 56,401
308 XXM SOIA 402,860 475,513 AT2,653
= 322,287
== 24,172
Al 56,401
13 SI12S0He 4 A AS A 402,860 475,513 AT2,653
OZoHel 2l=H| 575,513,000 * 141 %70% 402,860
= 322,287
=S 24,172
Al 56,401
o SAHIESXE 5,880 10,000 A4120




SN COIFORQI Dt
= Zojel =X s
o2 ool 235 (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 4,116
=S 529
Al 1,235
301 22N = 5,880 10,000 A4120
= 4,116
= 529
Al 1,235
01 Al EE AT S (2 RDEXA) 5,880 10,000 A4120
O Z0Hel E4HIE X2 (10)
1,200,000 x7H*70% 5,880
= 4,116
== 529
Al 1,235
LEHHR! RRAEXH 4,586 7,530 A2,944
= 3,212
= 411
Al 963
308 AHXIEMSOIH 4,586 0 4,586
= 3,212
= 41
Al 963
18 SIS0t & AAS A 4,586 0 4,586
Ogadie 224 Xa
6,551,000« 141 %7(f% 4,586
= 3,212
< 41
Al 963
LETOHR FAESAHHIA K 1,103,455 1,576,364 A472,909
= 772,419
< 99,311
Al 231,725
308 XXM SO0IH 1,103,455 0 1,103,455
= 772,419
== 99,311
Al 231,725
183 SV 2SO0 & AET AL 1,103,455 0 1,103,455
O FIjRl FAHSHHIA X2
1,576,364,0002 * 141 %7 (% 1,103,455
= 772,419
== 99,311
Al 231,725
LEH LU=E SSAHHIA XA 203,693 290,990 N87,297
= 142,585
s 18,332




SA I OoNel 1t
Mz Fofel =X SA
29 S0el =5 (EH9): ®2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 42,776
308 AXIHSOIA 203,693 0 203,693
= 142,585
= 18,332
Al 42,776
18 SIS0t HAS A 203,693 0 203,693
Ogadel s ==SAHHIA X3
290,990,000& *141%70% 203,693
= 142,585
= 18,332
Al 42,776
SSEX RS0 252,047 304,353 ~\52,306
= 176,433
= 22,684
Al 52,930
308 XXM SOIA 252,047 0 252,047
= 176,433
[ 22,684
Al 52,930
13 SIS0t 34 A AS A 252,047 0 252,047
OEsEx s
360,067,000& *141%70% 252,047
= 176,433
S 22,684
Al 52,930
LT ASIE0 T2 X3 (AE2Y) 6.110 8,000 21,890
= 1,833
Al 4,277
307 el2tol & 6,110 8,000 1,890
= 1,833
Al 4,277
10 Al SXAZEE 22X 6,110 8,000 1,890
OLgH AtBIF0 Z208 K& (K=E
2d) 6,110,000 * 14 6.110
== 1,833
Al 4,277
el S A= 8Y T2 29 30,800 60,000 29,200
= 9,240
Al 21,560
307 el2tol & 30,800 60,000 29,200
= 9,240
Al 21,560
1 AMISXAEEXS 30,800 60,000 A29,200




2A:

. ZOje =X S8
ool molel 25 (el mg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Om0el BAW xR 9y D20 29
44,000,000& *141%70% 30,800
= 9,240
Al 21,560
ol =0 na 23 7,800 7,800 0
== 2,340
Al 5,460
307 212+01& 7,800 7,800 0
[ 2,340
Al 5,460
11 AMEISXAEEES 7,800 7,800 0
OBOQ 201D 2
7,800,000 *14] 7,800
= 2,340
Al 5,460
O N=EZ6H0IH A KR AH 5,880 14,700 A8,820
s 1,470
Al 4,410
301 22N = 5,880 14,700 A8,820
[ 1,470
Al 4,410
01 AR 2EHSFS(RNEXRTHE) 5,880 14,700 N\8,820
OZOQAUDECZ2BH0ITHA KIRAS
8,400, 0003 * 141 %7(f% 5,880
= 1,470
Al 4,410
AYEOS =28 XA 21,000 19,625 1,375
=S 4,200
Al 16,800
301 LEtE NS 21,000 19,625 1,375
< 4,200
Al 16,800
01 AR 2EHSHS(RDNEXRTHE) 21,000 19,625 1,375
OMEHOH! 2/ZH| XA
30,000,000 *141%70% 21,000
= 4,200
Al 16,800
33020l HEASHE HE(MF) 1,000,000 10,000 990,000
402 2IZtA=01d 1,000,000 0 1,000,000
02 QI XHE AL E R (01X THE) 1,000,000 0 1,000,000
OS&02l0] HE2AZHEH HE
1,000,000,000& *14] 1,000,000
IS5 LETMY XJAY 382,077 0 382,077
= 234,718




SN COIFORQI Dt
. ZOje =X S8
ool molel 25 (el mg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 44,208
Al 103, 151
307 lztol & 163,668 0 163,668
= 81,833
== 24,551
Al 57,284
10 Al2ISTIAIEEE 22X 163,668 0 163,668
Oz=5 LM =2t g 1:1 XI&A
233,811,000 * 141 %7 (% 163,668
= 81,833
== 24,551
Al 57,284
308 AtXIEMSO0IE 218,409 0 218,409
= 152,885
== 19,657
Al 45,867
13 SI[2S0He & A AS A 218,409 0 218,409
Ozlss 2L =2t 8 MUlA X3
312,012,000 * 141 %7 0% 218,409
= 152,885
s 19,657
Al 45,867
ST S 131,430 0 131,430
= 52,572
=S 23,657
Al 55,201
307 21201 & 131,430 0 131,430
= 52,572
= 23,657
Al 55,201
1 AMISXAIEEXS 131,430 0 131,430
O S=ZLEAE
131,430,000 * 14! 131,430
= 52,572
= 23,657
Al 55,201
ZoHe Al =2E 18,172,525 20,974,836 /2,802,311
= 5,859,153
= 2,345,809
Al 9,967,563
ZOHI AL X2 8,511,188 11,774,449 N\3,263,261
= 5,809,687
= 810,220
Al 1,891,281




2A:

M MOjel =X S
chelr TR AlE 29 (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
307 212+01 A 8,511,188 11,774,449 A3,263,261
= 5,809,687
= 810,220
Al 1,891,281
10 IS SXAIEHE2ZHIEX 8,511,188 11,774,449 A3,263,261
OFO0H!l MEAIE 2HHI(5I14)
8,299,554,000& 14 8,299,554
= 5,809,687
= 746,960
Al 1,742,907
OFONQ! MEAIE LFBAHI(5HL)
6,560,000 * 141 %70% 4,592
& 1,148
Al 3,444
OZHR MEAE S SAANSEEE
275,773,000 * 14 x70% 193,042
= 57,912
Al 135,130
OZONO! MEAIL EIAK EIIHHD
10,000,000 x2 +70% 14,000
& 4,200
Al 9,800
SOOI HFAIE SIEFD| AEXA 1,456 7,271 Ab,815
= 874
& 291
Al 291
307 212+01™ 1,45 7,271 Ab,815
2 874
= 291
Al 291
10 AlSISXAIEHE2ZHIEX 1,456 7,271 25,815
OZOHQ! MEAE BIIHHD| AEXIS (2K
) 2,080,000 * 141 %70% 1,456
= 874
= 291
Al 291
ORI XIS ALSI THE A A KT & 4,305,59% 3,504,724 890,871
& 742,588
Al 3,653,007
307 QI2tol 4,395,595 3,504,724 890,871
& 742,588
Al 3,653,007
10 Al = XA EHE2FHIE X 4,334,844 3,454,724 880,120




2A:

Mz Fofel =X SA
chelr TR AlE 29 (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OFOEHE 2bI(114)
380,000,000 * 14! x70% 266,000
& 53,200
Al 212,800
OAIZZOHQIMEO | SKIRAME 29I (10HA
) 406,000,000& *141%70% 284,200
= 56,840
Al 227,360
OXEOfeI=X2 2H8I(200A)
3,010,821,000& * 14! %70% 2,107,575
& 316,136
Al 1,791,439
OZHeI=X 2 SAIH| X AR (200 A)
307,200,000 * 1A %7(% 215,040
= 64,512
Al 150,528
OXISAIZI HE, ZATHEALE S SAIH E
HaG 119,023, 000& * 1A x70% 83,317
& 24,995
Al 58,322
OFOHQl =2HEBSAlE 29HI(3MA)
1,011,586,000& *1A!%70% 708,111
= 106,217
Al 601,8%4
OYE el dAI=SHEH 2
240,000,000 * 14! %70% 168,000
& 50,400
Al 117,600
Q&RIAIE S SAIAF &D|125E
34,020,000 x 14! 34,020
OZHC! SDIESAIE 29I (1)
180,967,000 141 x70% 126,677
& 19,002
Al 107,675
OZHe! ZSMEIE 2HH|(7TIHA)
488,433, 0002 x 1A x70% 341,904
c 51,286
Al 290,618
11 AISIEXIAIEEX 60,751 50,000 10,751
QIO EXD|J| QAMAE KIKAF(
2|) 60,751,000& * 14! 60,751
SSENOIA S MEHE XA 339,732 348,736 A9,004
= 45,995
= 65,646
Al 228,091
307 21Z2t0| ™ 339,732 348,736 A9,004




S olEolel D
2 Zoiel =X S
=2l HOHR! Al 29 (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 45,99
T 65,646
Al 228,091
10 Al = XA EHE2FHIE X 339,732 348,736 A9,004
OSLHMAITIZMETIAME S|
164,266,000 * 141 x70% 114,987
= 45,99
T 20,697
Al 48,295
OSEHMOINSHMETAHEH 29| SHI
FIHAE 64,564,000 14! 64,564
= 12,913
Al 51,651
OSTHHIXIZIMEHE S|
228,830,000 * 14 *70% 160, 181
T 32,036
Al 128,145
ZOHQIMATHE AL 2GR 862,813 713,532 149,281
= 155,306
Al 707,507
307 212+01 A 862,813 713,532 149,281
& 155,306
Al 707,507
10 Al =S XA EEER2IHIE X 862,813 713,532 149,281
OXH! HNATHEAISE 2YBI(3MHA)
1,232,589, 0002 x 141 %70% 862,813
& 155,306
Al 707,507
HOCIHOISRD | =X 2AHH 29 82,422 117,745 A35,323
= 16,484
Al 65,938
307 2I2+01A 82,422 117,745 235,323
= 16,484
Al 65,938
10 Al S XA LB E2IHIE X 82,422 0 82,422
OFOIEHABSRI | =X JAHEH 29|
117,745,000 x 141 %70% 82,422
& 16,484
Al 65,938
ZHOHQ! DI XIAHE XI& 141,400 115,455 25,945
T 28,280
Al 113,120
307 QIZ2t01 A 141,400 115,455 25,945
= 28,280




SA I OoNel 1t
Mz Fofel =X SA
el Z0Hel Al 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 113,120
10 MEISXAAEHE2EHIE2X 141,400 115,455 25,945
OZOIIEXAME 2|
202,000,000 * 141 %70% 141,400
== 28,280
Al 113,120
Zoie! Mg 29 83,300 115,000 A31,700
= 16,660
Al 66,640
307 elzto| & 83,300 115,000 A31,700
= 16,660
Al 66,640
10 AlISXAAEEHE 22X 83,300 115,000 A31,700
OZoHe! MEs 2HIXE (29H2)
119,000,000 * 141 %7(% 83,300
== 16,660
Al 66,640
LETHAIHM WS HME KA 510,000 540,000 230,000
= 510,000
307 @120l & 510,000 540,000 30,000
== 510,000
10 Al SXAAEEHE 22X 510,000 540,000 30,000
O TIBM DS NAME SHH|
510,000,000 x 14 510,000
= 510,000
ZOHRIASAIZ 10T, AIDID| 2ESS A 238l X2 3,710 3,555 155
= 2,597
< 334
Al 779
307 glztol & 3,710 3,555 155
= 2,597
== 334
Al 779
10 Al2ISTIAEEE2GHIEX 3,710 3,555 155
OZOAANFAIEZ I0TAIDD| 2SSSAE 2
el XI& 5,300,000 *141%70% 3,710
= 2,597
=S 334
Al 779
ZOHRI0IZBAIE JISEY 3,240,909 3,734,369 493,460
307 lztol & 40,909 43,714 2,805
10 Al2ISTIAIEEE 22X 40,909 43,714 2,805
OSZAANZZ A HS0ISXZME s
S 40,909,000 x 14 40,909




SN COIFORQI Dt
. ZOje =X S8
el Z0Hel Al 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 3,200,000 3,690,655 A490,655
01 Al&H| 3,200,000 3,690,655 A\490,655
OSTAFNA=TZ JISLL A
3,200,000,000& * 14 3,200,000
=Dz 2 Ol LAt 23,657,517 24,590,850 /933,333
= 20,884,075
[ 7,776
= 1,700,853
Al 1,064,813
NASE N2 4,641,515 6,443,427 A1,801,912
= 3,943,660
= 7,776
= 331,076
Al 359,003
AEALY e st 15,000 15,000
307 212+01& 15,000 15,000
1 AMISXAIEEX 15,000 15,000
ORNI223| HetdT N
15,000,000 * 14! 15,000
K22 A 3,105,370 4,361,098 A1,285,728
= 2,794,833
== 217,376
Al 93, 161
101 e124d| 347,432 496,331 148,899
= 312,740
=S 24,267
Al 10,425
04 JIZtN2Z2XNSE+ 347,432 496,331 148,899
OXEZZAIY 2124, 404 2=
496,331,000 *141%70% 347,432
= 312,740
S 24,267
Al 10,425
201 =3 20,804 29,720 8,916
= 18,724
= 1,456
Al 624
01 AtR2t2lHl 20,804 29,720 28,916
OXE22AY =& A HF L (2300S)
800,000 *237H S*70% 12,880
= 11,592
= 902
Al 386




SA: SOIEOfOI It
B 20| EMBHHO| A5
el MASE U2 (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
ONEANY #EEEHI(M, =)
3,000, 000& * 1A x70% 2,100
= 1,890
= 147
Al 63
OXEAIE=E SEHI(AlL =)
8,000 20«52 x7(% 5,824
= 5,242
= 407
Al 175
202 04| 6,860 9,800 2,940
= 6,174
= 480
Al 206
01 2L Y| 6,860 9,800 N2,940
OX2AIY SX &
100,000 *4 2 %125 *70% 3,360
= 3,024
= 235
Al 101
OX2ZAY S&IX| Ast
200,000 x252H x7(% 3,500
= 3,150
= 245
Al 105
301 LEtEAZ 1,260 1,800 540
= 1,134
= 83
Al 3B
01 AIBI 2 & A& 251 2(2DEXTHH) 1,260 1,800 AB40
O=EX=20] u=sdl X
150, 000 2 6= *70% 1,260
= 1,134
= 83
Al 3B
307 21Z2t0| ™ 2,729,014 3,823,447 N 1,094,433
= 2,456,061
= 191,085
Al 81,868
11 AISIEXIAIEEX 2,729,014 3,823,447 A1,094,433
OXE2ZAIZH| (=30 &)
3,898,591, 000& *1JH A *70% 2,729,014
= 2,456,061
= 191,085
Al 81,868




SN COIFORRI T
33 D ZHEEHO s
Bel: NASS NI (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEX2LE 2K 396,590 497,281 100,691
= 277,613
== 39,659
Al 79,318
307 212+01& 396,590 497,281 100,691
= 217,613
=S 39,659
Al 79,318
10 Al SXA2EE 22X 396,590 497,281 100,691
OXIAX e 2SHI(10HA)
566,556,000 * 141 %7(% 396,590
= 217,613
= 39,659
Al 79,318
KNSXELE SAIL S8 11,304 15,240 A3,936
[ 3,175
Al 8,129
307 glztol & 11,304 15,240 23,936
= 3,175
Al 8,129
10 Al SXAIEEHE2EHI2x 11,304 15,240 A3,936
OXNSA2HE SAHL SE+4
90,0002 * 14 * 12 70 10,584
= 3,175
Al 7,409
ONATZHE SAX &II254E
20,000 x3&* 122 720
K Atell2tel Al 23 14,609 33,200 18,591
= 4,383
Al 10,226
307 elztol & 14,609 33,200 18,591
= 4,383
Al 10,226
10 Al SXAZEE 22X 14,609 33,200 18,591
OR-ZA2IA 2
20,870,000 *141%70f% 14,609
== 4,383
Al 10,226
ZE2SEUAS =42 s 1,075,628 1,536,608 460,980
= 860,500
== 64,539
Al 150,589
307 212+01& 1,075,628 1,536,608 460,980
= 860,500




SA: LoIZ0fel D
PR DID|=MEE Aol LHA!IS)
el MASE U2 (SH &)
K- BB S(BI) - HISAY - BES Ofl by e MimE=E)
= 64,539
Al 150,589
11 AISIEXAIEEX 1,075,628 1,536,608 A\460,980
Oglg|ss® | 22,001,000 * 14! %70% 15,401
= 12,320
= 925
Al 2,156
O3EI8s& Il
54,000,000 *14!I%70% 37,800
= 30,240
o= 2,268
Al 5,292
O I=sE2 20,000, 000& * 14! %70% 14,000
= 11,200
= 840
Al 1,960
OBUsYIISES
40,000, 000& *14!1%70% 28,000
= 22,400
= 1,680
Al 3,920
OFA NS H 160,000, 000& * 1A x70% 112,000
= 89,600
= 6,720
Al 15,680
O3S HM=HAE |
100,000, 000 & * 1A x70% 70,000
= 56,000
o= 4,200
Al 9,800
O3S MFHE I
72,343,000& 141 %x70% 50,641
= 40,512
& 3,039
Al 7,090
OFAHL MSHEH(XHAI2(0l0t)
197,613, 000& * 1A x70% 138,330
= 110,663
& 8,300
Al 19,367
OAG L M=H R (XA =1
870,651,000 *1A!%7(0% 609,456
= 487,565
& 36,567
Al 85,324




SN COIFORRI T
33 D ZHEEHO s
Bel: NASS NI (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ANE3XE= 11,905 0 11,905
= 10,714
== 833
Al 358
301 2eEN= 11,905 0 11,905
= 10,714
=S 833
Al 358
01 Al EEHS(FRDEXMH) 11,905 0 11,905
OXtgdsXEs e 22l
17,006,000 * 141 %70% 11,905
= 10,714
= 833
Al 358
K&t Abell2tel 11,109 0 11,109
= 7,776
= 1,11
Al 2,222
307 @120l & 11,109 0 11,109
[ 7,776
= 1,11
Al 2,222
10 Al SAAEEHE 22X 11,109 0 11,109
OXt2Atddl2tel 15,870,000 141 %7(f% 11,109
[ 7,776
= 1,11
Al 2,222
FHE0 X2 18,876,174 17,993,975 882,199
= 16,940,415
= 1,360,257
Al 575,502
F=NHSN 18,457,154 17,924,175 532,979
= 16,748,405
[ 1,302,654
Al 406,09
202 04| 900 1,200 A300
01 2LHoIH 900 1,200 2300
FHSO 28 R=E o
200, 0002 *3E *32] x50k 900
301 LEtE N = 16,856,254 16,422,975 433,279
= 15,308,405
= 1,190,654
Al 367,195




SN COIFORRI T
33 D =HEEHO s
=@t F=Hs0 XA (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 16,856,254 16,422,975 433,279
Oogxt=n 16,856,254,000& x 14 16,856,254
= 15,308,405
< 1,190,654
Al 367,195
403 X SHHMSAH=01H 1,600,000 1,500,000 100,000
= 1,440,000
< 112,000
Al 48,000
02 S 2SS0t et =& 2 Ef A ] 1,600,000 1,500,000 100,000
Ox=tdRAZ0 1,600,000,000& *14] 1,600,000
= 1,440,000
=S 112,000
Al 48,000
HEFA Al SEXHA 361,200 0 361,200
= 180,600
=S 54,180
Al 126,420
301 EtE NS 361,200 0 361,200
= 180,600
= 54,180
Al 126,420
01 Al EE AT S (2 RDEEMA) 361,200 0 361,200
020258 HEHEAMSAISE XA
516,000,000 * 141 %7(% 361,200
= 180,600
= 54,180
Al 126,420
FHAX FHEZINEALS 35,000 35,000
402 2I2F X201 & 35,000 35,000
02 RIINEASEZ(0IETHR) 35,000 356,000
OYESTAL(EXZAY FE3)
3,500,000& 10 35,000
ZHOHQ! FENONE XIRAHY 18,620 30,400 A11,780
= 9,310
== 2,793
Al 6,517
402 2I2E X201 & 18,620 30,400 A11,780
= 9,310
S 2,793
Al 6,517
02 BIENEASEZ(0IETHR) 18,620 30,400 A11,780
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